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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 2 times table below, then colour in all the multiples of 2 to reveal the 

 hidden picture. 

 

1 x 2 =  5 x 2 =   9 x 2 = 

2 x 2 = 6 x 2 = 10 x 2 = 

3 x 2 =  7 x 2 = 11 x 2 = 

4 x 2 = 8 x 2 = 12 x 2 = 
 

 

 

  

6

4

4
7 2

2 1

4
2

17
25 23 23

11 9 25

2121 9
9 15

23

11

7

7
11 15 3 21

17

15

11

15 7 23
5 9 21

5 3 15
7 25 14

19 11 13

11

25
5 9

21 25 18

17 25 19
11 15 5 11 6

13 15

9 5 23
23 3 15 5 15 19 5

15
11 23 25 24 2 11

921 19 17 3 13 3
3 13 21

5 19 25
5 21 4 12 7

25 23

19 15 8 2117 11 23 13 3 9

5 7 3 23
9 6

7
5 22 11

19
23 18 3

21 17
15 11

17 11
21 21 17 6

15
11 11 2 11 8 19 5

23 7
3 19 13 21

3

9
24 25

7 9 21 20
17

2113 17 1315 21 23 14 2 13

2315 15 7
9

11

21

21
7 20

15
21 12 10 16 4 8 16

2 14
25 7 22 12

13
23 17 22 25 7

8 23 922 19 711 6 11
16 9 3 13

1120 1024

21

12 5 25

11 9 2 6
7 19

14
10 16

15 13 6 4
18 24

15

9

16

9

23
7

11 13 18 2
12 18 24

10 19
8

21

11
16 18 9 5 20 17 17

3

20 7 18 3

23 10 24 6
14 8 13

3 20

6 2 24 15 24 22

20 22 19 8 22

12 18
15 19 21 25 14 2

22 16
9 23 18 13

19

15

11

5 1921 21

21
8 18 19 10

22 8 17 20

15 27 15 12

18 24 4 7
24

23 17
7

4 18 15 1513
19

11 139 15

3
5 19 9

3 21 6

25

21
21 5

16 10 7 14 5
25 25

9 15 23 17

13

23 7 25 119

1124 1717
23 12

8
16 11

11

5 3 13 15

9

6 11

4 21
3

8

14
21 22
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SOLUTION 2 X TABLE 
 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

6

4

4
7 2

2 1

4
2

11 9 25

21
7 25 14 21 17 9

9 15
23

11
19 11 13 11 7

11

17
25 23 23

11 15 7

5 9 15
21 25 18

5 9 21 7
5 3 15

23

17 25 19
11 15 5 11 6

13 15

9 5 23
23 3 15 5 15 19 5

15 3 2125

15
11 23 25 24 2 11

921 19 17 3 13 3
3 13 21

5 19 25
5 21 4 12 7

25 23

19 15 8 2117 11 23 13 3 9

5 7 3 23
9 6

7
5 22 11

19
23 18 3

21 17
15 11

17 11
21 21 17 6

15
11 11 2 11 8 19 5

23 7
3 19 13 21

3

9
24 25

7 9 21 20
17

2113 17 1315 21 23 14 2 13

2315 15 7
9

11

21

21
7 20

15
21 12 10 16 4 8 16

2 14
25 7 22 12

13
23 17 22 25 7

8 23 922 19 711 6 11
16 9 3 13

1120 1024

21

12 5 25

11 9 2 6
7 19

14
10 16

15 13 6 4
18 24

15

9

16

9

23
7

11 13 18 2
12 18 24

10 19
8

21

11
16 18 9 5 20 17 17

3

20 7 18 3

23 10 24 6
14 8 13

3 20

6 2 24 15 24 22

20 22 19 8 22

12 18
15 19 21 25 14 2

22 16
9 23 18 13

19

15

11

5 1921 21

21
8 18 19 10

22 8 17 20

15 27 15 12

18 24 4 7
24

23 17
7

4 18 15 1513
19

11 139 15

3
5 19 9

3 21 6

25

21
21 5

16 10 7 14 5
25 25

9 15 23 17

13

23 7 25 119

1124 1717
23 12

8
16 11

11

5 3 13 15

9

6 11

4 21
3

8

14
21 22
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STUDENT WORKSHEET 

 Instructions 

 Complete the 3 times table below, then colour in all the multiples of 3 to reveal the 

 hidden picture. 

 

1 x 3 =  5 x 3 =   9 x 3 = 

2 x 3 = 6 x 3 = 10 x 3 = 

3 x 3 =  7 x 3 = 11 x 3 = 

4 x 3 = 8 x 3 = 12 x 3 = 
 

 
 

 

 

8

4

7

5

7

14

5

29
14 22 28 34 19 5 34 32

10
31 23 17 88

38 35 11 29

18 3
17

26 18 21

35
8 19

16 37 19 25

24 36 9 3315 30 33 21 27 6 1533

23
36 9 21

18 24 12 18 13

6 15
16 12 36

3 27 9 21 12 33

28 3214 25

27 15

34 22

32
3026 25 40 38 20 16

15

71534

28 6 18 33 15 36 12 3

24
27 12 36 21 24 3 6 27 21

1522 3023 28 3234 20 25

18 15 24
3 36

26

17

18

9 15 12

21

27

30 12 6

3 35

27 6 24
23

9
36

33 36

33

8
10 30 12 21 3 18 3422 27

21 15
27

30

37 33 12 16

19 21
9 33

8 15

20

9 33

24 6
24

3230 16

22
3 33

9

36 33

246 189 21

1418 27
15

9

5

29

4

15
3 28

24
36

6
21

3315

30

24

21 30
6

26 5 12 3

3 30 12

28 14 20

35 10 27 24 6 33

8 21

6

13 17
31 25 24

17
12 36 21 18 22

3 36 32

18

15 25 11

9 15 35

9 23 13

19

37

4 25

11

19 26 4 6
23 5 12

22

7

33

1832 13 38 24

35

16
34 12 712 3 31 23 19

18 33 59 24 3 26
27 8 34

30 36 6 27

34 38 36 27
17 31 15 21 9

16

1233

8 13
11

310 28 7
10 34

15 8 20
22 24 30

16 10
14 32

3737

18

2324 32

11
27 28

10

7 31

25 21 34
16 5 22 30 18

8
17

8 22 16

23 35 38 28 20
15 25

10 23 3511 7

35

4 14 5 26

13 17

29
6

26 8 4 29 32

11 19 14 5

31
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SOLUTION 3 X TABLE 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8

4

7

5

7

14

5

11

29
14 22 28 34 19 5 34 32

10
31 23 17 88

38 35 11 29

18 3
17

26 18 21

35
8 19

16 37 19 25

24 36 9 3315 30 33 21 27 6 1533

23
36 9 21

18 24 12 18 13

6 15
16 12 36

3 27 9 21 12 33

28 3214 25

27 15

34 22

32
3026 25 40 38 20 16

15

71534

28 6 18 33 15 36 12 3

24
27 12 36 21 24 3 6 27 21

1522 3023 28 3234 20 25

18 15 24
3 36

26

17

18

9 15 12

21

27

30 12 6

3 35

27 6 24
23

9
36

33 36

33

33 12 16

19 21 24 6
9 33

10 30 12 21 3 18 3422 27

30

8 15 6 189 21

30 1418 27
15

13 17
31 25 24

20

1530 12

26 5
3

37

9 33 5
15

3 28
24

36
6

21

33

24

3230 16

22
3 33

9

36 33

8
21 15

27

19

37

4 25

11

9

6 33

24

24
2912 3

32

18

6
21 30

9 15 35

28 14 20
4

35 10 27 24

6

9

8 21

23 13

18 22
3 36

6 27
15 25 1130 36

533 9 24 3 26

18 27 8 34

19
12 712 3 31 2318

17
12 36 21

33

34 38 36 27
17 31 15 21 9

16

19 26 4 6
23 5 12

22

7
32 13 38 24

32 3534

5 22 30 18 15 8

8 13
11

3

10 34

24

10 28 7

37 25
1622 24

11
27 28

10

33 29

16 35

4 14 5 26

13 17

23

6

3721 34 20
30

16 10
14

8 22 16

23 35 38 28 20
15 25

357 10 23

327 31

8
17

26 8 4 29 32

12 18

11 19 14 5

31
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     STUDENT WORKSHEET 

 Instructions 
 

 Complete the 4 times table below, then colour in all the multiples of 4 to reveal the 

 hidden picture. 

 

1 x 4 =  5 x 4 =   9 x 4 = 

2 x 4 = 6 x 4 = 10 x 4 = 

3 x 4 =  7 x 4 = 11 x 4 = 

4 x 4 = 8 x 4 = 12 x 4 = 
 

 

 

  

5

8 4 4
4 8

8

26 34
38 17

47
38 18

11
25 4325 35

1015
22

22

4
20

32 17 18

26

9
26

22 246

34
15 38

18 13 11

29 43
32

46
38 36 8 2416

30 6 30
34

9 33

14 4339 29 42 43
38 14 12

45
13 30 10 8

15 18 47
11

46

30 4
38

47 37

45

27

2214

40 48

22 30 33 30 37

22 18

39 38

7

10 36 24
16 44

28
16 20

46 22 41 29 4943 26 46
13

30

48 32 39
26 48 25

32 28 28
28

34

18

16 38

42

28
43

22
20

24

26
25 47 29 11

4
29 3435

42 15
15

42

39

3543

4634 13 48

41 41
25

33 27

47
9

29 30
3434 12 37

38
10 20 18

26

46 4324 16 8
12

40

17 48
3640

46
25 28 28 41

45
27 3116 1230 22

36 2439 29 40

2017

33

35 14
16

20

20
8

32

32
12

23
16

14 25

214

44

24

49

26 36
33 44

24
418

28
42 27

1228
44 16 34

10
34

36

45
32

24 32

31 27
30

46 41 49
23

37 23 21

38

18

11 47 30 42
28

3613 41
3531 41

40 11 46 29

2633 16 1438
48

8 23
18

16
34

30 38

47

35

24

26 18 34 29

7 14 40 4529 21

38 27
11

45 15
36 4

28
1245 37 42 49 30

49 14 15 4229 10 33 26
39 27

9 1227

21
30

32 25
41 4

44
20

48
22 20

39 34

30
24 420 44 18

20
8 42 39

18 20 39
388 32

14

33
26

42 35

31

46

23 8

38 22 13

34

26
2040 16

36
15

45

20 12
24

28

32

44

32
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SOLUTION 4 X TABLE 
  

 

  

 

 

 

 

 

 

 

  

5

8 4 4
4 8

8

32

13 11 26 22
26 38

17 18 24 43
11 22

17
47 344613

23 8
25 35

10
22 38 18 38

15
6 4

20 34 20 1224
25

329
26 30 6

22
34

15 38 15

18

16 45
46

16 34 32 36
30 9 44

24 37 40

33 28

48
47 45 40

32

26
38 29 43 2047 38 36 8

11 7 30 4

2213 30 10 16 8 20 14
15 18

27

39 38 38 14 12 28
44

18 28

46

28
10 36

22

42 43 16
14 28

39 29

48

22

42
18 13 48 32 39

26
45

24 43

25 37

43 26 46

30 33 30
32

38
42 46 22 42 35 30 41 29 49

26
25 47 29 14 16 11

388 32 34

15 33 47 4342 15 18 20 39 9
34

26 25

30

35

3412 12 37

34 13 20 48

41 41 24 4

40
28

35

43 29

29
31

22 26 17 48

34

39
36 46

3818

49

24 16 8 44

33 27

31
39 29 40 4 40 21 23

16 43

30 22 17 16
36

33 46
10 20

46
25 20 28 28 41

12 45
24 27

25

24 18
18 3516

20

21
32

14
27 20 4 8

28 32 14

32
1242

34 2344 16 37
24 23

36 12 4626 8 36 42
33 44

24

41 4928

27
20 44 18

20 3039

11 46 38

30 42
24 28 4 38 31

48 2932
47

36 14 31

20 1130

39 34 24
41

41
44

20
40

10
34

48
22

8 16

13 2633 16

41 4 34

27 9 12 4530
32 25

7 45 30 38 35

49 30

47 18
35

45

23

26 18 34 2938 45 15 2736 4
49 14 15 4229 10 33 26

39 27
11

21
28

14 29 40

37 42 12
21
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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 5 times table below, then colour in all the multiples of 5 to reveal the 

 hidden picture. 

 

1 x 5 =  5 x 5 =   9 x 5 = 

2 x 5 = 6 x 5 = 10 x 5 = 

3 x 5 =  7 x 5 = 11 x 5 = 

4 x 5 = 8 x 5 = 12 x 5 = 
 

 

 

  

3

6 56 22 27
61 38 54 26

27 44

51 57

35 36 21 45

44 6
32 21

18

39 29 24 54

56 38 58 51
51 57 6 58

11
20 57 30 23

10

14 61 4141 52 55 60 11 26
45 10 51 29 54

5 38 20
43 60 45

55 59 57
14 15 52 35 26 40

50

53 34
21

35

5211 44 25 50
18

25 59 25

36 16

61
24 60 5 33

41 33 22 20 55 39 56 43
17 15 40 30 55 15

38
10 40 35

22 53 27 45 10 41 5840 393625 27 52 50 33

5
33 29 20

55 32

50

52
30

10
15 45 30

57 34 11 32 9

35

41 25 26

13 55 40 45

24 60 30 53 27
1452 8

40 5 55
25

35

56
14 35 35 61 31 51 54 15 41

16 15
20 60

21 25 47 2943 39 38 25 20 56 54
34 29 41

32 15 55 10 38 47 27 40 3321 60 50 45 35 45 50
24 9

14 38 40 26 46 35 53
46 61 25 10 20 5 30 25

16

60 50 8 58
39

15 60

59

22 41 20 2618 40 55 30 55

41

36

40 49

61

21 38 35 25 55
8 20 32

42

61 25 50 40 45 15 6

27 18

27
44 57 60 10 60 31 37 53 3231 45 20 35 46

30 50 30 21
50 33 60 5822 9 36 40

59
28 51 55

15

15 25 5

50
30 45 10

61
20 35 25 10 56 2760 35 51

30 56 41
38

59

25

33
17 23 60 40 20 5 45 55

25

32 10 8
45 32

30 55 25

50

55 55
33 60

60
35

47 16 20 30 55
34

36 35 15 40
22 58 54 22

42 16
9 15 20 5

56 24
46 37 53

19
36 26 5245 21

46

47

15

5 30 20 38
47 28 61

8 37 56 22

40
50

22 59 57 31

14
59

42 35

61 52

53 56 52
4941

36 28 42 16 47
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SOLUTION 5 X TABLE 
 

 

  

 

 

 

 

 

 

 

  

3

27

47

6 56 22 2738 51 57 44

22 53
10

57 34 11 32

52 8

34 29

16

46
42

6
21

39 29

38

24

61

54

51 57 58

11
30

21 18

23

59

41
11 26

51

58 5156

14

10 29 545753 34
18

11
24 5

41

52

33

14 15 52

39
25 43

26
44

21 38

58
25 27

13 55 40 45
3650 33

50

16
56

30

56
14 31 41

26 52
24

14

29
5

43 39

35
55

9
41 25

54

3321 35
15 55 10 38

24 9
59 53

39

30

41
2938 25 40 5 55 20 56 21

16

41

61

20

50

14 38 40
2561 25 20 5 60 58

26

50
41

15 26

46 35

3618

10

388

8

18

25 50 4061

40 60
35 25

20

22
55 30 55

27
44 57 60 31 53 32

49
27

46
30

22 9 36 40

31
10 60

45

21

61
59 20 5628 34 55 35

15

3847 16
17

27
10

5932 10

33
60

33 60 58
50

53

5 45 55
8

55 25

47

36 40 32
22

16 26 52

37

61
47

36 28

9

45
42

56

46

19
58 46

21

35 15 45
54

60

22 30

36

59 38
61

33 60
52 55 55

35

28
8

22 59 57 31

42
14 5

52
22 41 49

53 5642

30 20

16
37 56

32
44 35 36 45

6
20 57

61 54 26

41 52 55 60
45 10

35 55

20
5925 50 50 25 60

35 40 5

45 61
60 3322 20 55 3617 15 40 30 55 15

45
45 10 41 40

35

43
10

3952
38

40 35 15
27

32
60 30 53 27 30

54 15

33 20

15
20 25

25 47

35 35 61 51

32 47 27 40
60 50 45 45

60

4045 15 6
37

20 35 15

32
55

25 5
35 25 10

30 21
50

51 50 60 51
30 45

20 30 55
23

25

40 20

30

25

56 41

15
15 20 5

24 50
50 35

40
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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 6 times table below, then colour in all the multiples of 6 to reveal the 

 hidden picture. 

 

1 x 6 =  5 x 6 =   9 x 6 = 

2 x 6 = 6 x 6 = 10 x 6 = 

3 x 6 =  7 x 6 = 11 x 6 = 

4 x 6 = 8 x 6 = 12 x 6 = 
 

 

 

 

 

 

  

24

40

28 57
34 72

70

34
16

65

34 70

46

30

48

36

16

1266

25
48

48

48

48
42

12

54
68 67

71

44

60
57

24

30

48

546
6 60

36
12

70 48

72

42 40
42

36

18

64 48
36

24

72

40
48

16
30

42

72

30

54

30

18 30

14
26 23

32

36
54

70 54 6 30
30 54

28

66

28
42

12

24

6
6636

8

14 6

62

70 20
46

42 16

52 35

44

29
38

46
26

60

54

56 36
3640

18

5416

30

72

30

71

21 24
12

48

18

4 36 42

3619

40 28

74

46
60

52

36
50

36
12 19 48 30

24

40
34 6432 44

36
42

24

15
12

44 26

48 54
6215 8 46 6261 16 5 16

51 3066

66

52 70 14

49 22 72 4624
42 18

6
35 68 14

52 3234 32
72 35

40
26

26 29 74

50

28 24 70
10

3269
29

38

35

14 70 52

16
15 64

62 48
22 40

54

28

44 20 41
32 22 34

63

54

59 34 16

19
44

52

62
56 31 57

44
38

18

10
14 64 46 38

14
56 6926 34

54 66
9

68

70
38

72

22

44

52

54

49

44

8

50

24

63 32 52 5060 42 6662
54 64

56 46 56 40
48

59
42

74
35 44 47

16 19
63 34 5448

28
14 51

34
50 72

29

259
46

29 16
27

60 32 52
10

31
66 42

20
26 45

5040

44

36 72 62 33

23

53

17
67

66

20

31

67
19 3865 26 294638

65
21 16

40

28

64 46 73

52 22

40
61

62 26 46
43

44 32
23

16 2532 34
28

52

24

54

24

25
32

36
28 73

38

26

44

26
50

62
72

3244
50

24

48

66



 _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________  

 © Colourmath 2008    

 

 

SOLUTION 6 X TABLE 
 

 

 

 

 

 

 

 

 

  

24
72

42
54

30

30

40

74

24

48

42

24

48

31

4012

4432

25

50

36
36

66 54

72 16

36

18 30 66 12
6

48 42 48 36

40 28 438 28
61 40 28 44 23

16 31 32 34 52 32 25 40

29
62 30 26 54 38 46 46

21

70

65
16

65 48

14
28

34

34 70

67
53 12 46 52 25 19 3854 306 65

36
22

26

4573

35

51 6 24 66 64

29 67 20

24

63 48

60

34 48 54 30
36 72

44 47

50 72 66

50

10
33

46

42

2062

64 48 40
46

17
26

66

56 46 56

16 19

59

52

72
9 30

54

23
66

63 60 32 52
64

1248 42

42
60

36
66

38

25
50

40 32
27

29 16 26
36 48

54 42

24

6

52 32 14
28

42 16
49 26 2324

50 72 70 20

70 22 36
54 44 70 48

62 42

954 52 12
62

72 28 73
46 26

3818 44

24
54 66 48

19 14 30
8 14 64 46 38 44

44

44
14 6 26 34 38 30 18

10
62

26
56 69

60

21 24

54

18

7240 62

16 54 1868 28 52 35

46

59 34 16
48

34

56 54 31 57

16

3244 34

44 50
57

34 64

16 71
38

15 64

44 20
30

44 36
32 22 34 41

29
72 63

70

3214 70 54 12 52 19

29 10

28

56

44
32

57
60

16 24 70
36

38 48 30 40
69

71
4622 40

40
4

26 29 36
28 62 48

72
34 32 6

50 60

35 68 14
52

42 18

51 74

74 40
50

3219 67 36

46 52
24

24 28

68

66
72

14
26 52

12 66
30

54

62

35 35
26 36 42

54 3615 44

49 22
42

24

7015 8 46 6261 16 5 16 48
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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 7 times table below, then colour in all the multiples of 7 to reveal the 

 hidden picture. 

 

1 x 7 =  5 x 7 =   9 x 7 = 

2 x 7 = 6 x 7 = 10 x 7 = 

3 x 7 =  7 x 7 = 11 x 7 = 

4 x 7 = 8 x 7 = 12 x 7 = 
 

 

 

  

5332

62
19

75 85
54 72

3575 55 86 70

40 6417 45 23 76

10
57 84 49 9 44

42 62 20

65 57 76
43 6146

22

56
76

87
74 21 7117 41 39 28

69
49

83

45

18

60 18 26 51

41

73

74
33 78 42 44 74 38 25

16

52

36 67
14 73 55 30

15

1127 13 43 50 16 50

80 8 63

54 8 24
21 25 52 41 12

3788

58 22
81 49 6831 51

15 40 74 81

58

24 56

28 82
48 30 7314 57 88 20

35

50 15 78

65

25 53 75 42 64 47 23 19 48
52 9 30 13 1721 63 31 69

45 24 46

55 66

62 35 14 85

58

57

80

29

16 49
29

82 12
30

16
55

79
32

68

39 71 28 49

54 21

38 26 84

86 56 63

15 17 25
10

42

44 72

32 51 13 56 84

26

42 61 72

9

47

43
77

21 77

32

66
1918

71 60
11 29

47

87

3359

64 18 14 46
76

48 54

7053 32

41 63 42 28

35

47 28 42 15

49 63

12

7

27 78 83 62
28

35

33 84

21

56

84 21 63

35

46

42 40
81

21 39

70 10

64
49

31
2359

15 8

20
2735 77 56 4463 86

34 14 84 35 42 11
85 65 25 58

67 64 48
56 28 42 708 59

35
50 3439 13 70 56

79 34 63 35

22

35 49
27 19 77

43 49

658868 67 51

3637 34

28 21

29

23
40 44 34 38 30 66

9
33

45

83 22

2211 52 20 68

71
37 67 35 42 37

66

69 24 59

10 36

53 61

26

38

12 63 84

82

56 6060

21 14 80 31

14 38 4328
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SOLUTION 7 X TABLE 
 

 

  

 

 

 

 

 

 

 

  

62
35

21 63

35 49

56 21

32
17

69
51

21
28 61

57
39

48 30
14

68
8 15

14
88

42

58 35
49

56 54
21

3335

11 29 80

47

28 49 6672

87 71

5514 5949

42 56 84

56 35 26

1986 56 63 18
6084

43
77 49 63 70 35 9

32

63 42 28 47

14 46

28 42 15 12

7 84

21

48 54

28

29

27

63 86 64

11 81 20

34 59 23

40

4456
10

60

56 28 42

42 14 84 35

50

43 49 14 35

56 77

35 77
84 21 63

70

42

70

47

68 67

15 8

70

22

51

39 31

6588

46

64 48

82 71

36

4328

45 22 38 23

37 34

38

80 31

60

69 24 59 11
40 44 34 38

52 6830
9 83

20
66

21
37

66

22
33 36 14

67 35 42
63 84

19
49

28 21
63 3553 61

79 34
8 59

12

10

67

26 39 13
35

37

27

34
85 65 25

27 78 83 62

58

33
4164 18

7653 32
39 71

54

38
32 51 13

15 17 58
82

26

29
16

30

21 21 77 42 61

69

25
1044

45 2429 31

62 8516 57

72

46

52 9 30 13

12

42
28

79
25 53 75 64 47 23 19 48 6855 66 82

73 57 88 20

58 22 65
15 40 74 81

81
5031 51 24 78

43 50

63

27 13 50

80 816
41 15

33 78
60 18 26

87
74

24

25 52 41 12

37

74

25 52 83

1116
73 55 3036 67

44 74 38

73

49

17 41

57
75 55

65 76

17 45 23 40 64 32

70

109 44
86

84

71 45

53

46

20
75 85

43 18

76
62

72 19 76
56

22

54

49
42
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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 8 times table below, then colour in all the multiples of 8 to reveal the 

 hidden picture. 

 

1 x 8 =  5 x 8 =   9 x 8 = 

2 x 8 = 6 x 8 = 10 x 8 = 

3 x 8 =  7 x 8 = 11 x 8 = 

4 x 8 = 8 x 8 = 12 x 8 = 
 

 

 

  

8 9 8
8 2

8 8

8 8
8

8 2

8

8 3
2

8

8

2 8
4

8

89 29 90

4228 38

28
29 26 14 27 35 41 36

38
32

2767 99 85 60

8276 26

75 98

18 92 44 87 50
34 52 27

46 72 15
10 42 34 74

33

50 39
67

18 48

54
14 86 21 30

66

37

26 51 22
25 53 25 22

30 50 56

91

49 30 66

90 69

84 88

53

45 40 64 56 32 33

43

76
36 80 38

16
86

24 68

23 36

12

13

52 72 45

9 22 34 15 77

86
11 82 26 24 39 46 16 31

96
72

71 74 65

83

44
3552 51 50 66 40 40

22 18 74 16
41 33 10 12

21 30

7516
28

23 27

25 65 85

44
47 63

38 11

72 34 52
87

5534
22 26 74

72 18 58

33 26 39 8 16
46

73
40 32 8 24 54 93

4094 24

51

52 14 32 96
35 20 56 64

72 48

66 78 86 44

52

11

15

24 33

20
87 22

92

10

88

42
80

32 18 6917 4542 16 80 7226 94 40 23

54 12 39

24
18

40

85 66 21
2173 72 88 24 32 618 56 5035 8456 84 62

71

27 25 5848 64 16 80 59

95 24 27

89 63

5737 34 22

43

74 28
8 15 19 20 49

10 96

73 85 36

48 46 59 62
47

36 70 9

25 35

94

90

29 4542 63 31 67 60

20
41 19 40

88 24

11 30

41

24

43 32
19

48

18 64 8

34

31

5622

80 64

96

88 56 46

56

42

81 65 80 88
57

25

48 72 8

17 76 32 18
36 96 70

70 91 94 12

25 8 17

78 54

15
20 76

63
39 59

20 42
55

8235 49 12

22
44

36

65

92 27

9716
64

24

68

79 81 78 29

55

61

96 32
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SOLUTION 8 X TABLE 
 

 

 

 

 

 

 

 

 

 

  

8 9 8
8 2

8 8

8 8
8

8 2

8

8 3
2

8

8

2 8
4

8

42 63 31 67 29 45 11 30 73 85 60 36 43

74 28
8 15 19 20 49

48 4634 10 96 20 59 62

41 3690 41 19 40 47
88 24 95 24 27

31

70 927 25 5848 64 16 80 59 25 35
85 66 21

2173 72 88 24 61 94 84
84 628 56 35 56

32
50

54 12 39
32 18 69 71 42

80 17 45 89 63

57 10

55

26 74
58

37 34 22

42 16 80 7226 94 40 23 24
18

52 14 32 96
35 20 56 64

72 48

40

88 24 3334

56 22

66 78 86 44

52

22
64

72 1811 80

15 33 26 39

87 22 94

51 73
40 32 8 24 54 93 44

47 638 16 38 11
96 48 23 27

32
19 83

88 56

24

92 43

46

25 65 85 46 28

40 20

7516 72 34 52
87

71 74 65
32 24

56

35

22 18 74 16
41 33 12

21 30 44
18 64 8

52 51 50 66 40 48 72

24 96

18
36

64 65

9716

88
57

10

81 65 80

92 2725 96

8 40

76

70 91 94 12 72 86
31

70
17 32

96

3625

12
11 82 26 24 39 46 16 238 17 76

84 88 36 80 38
16

90 69

48
51

21

43 52 72

42 9 22 34

63
39 59 18

55

54
30

49 30 66

53
40 64 56 32

45

56

45 33

50
6620 42 25 53 25 22

33 30

22

86

13 37

26

24 68 15 77 91

46 72 15
10 42 34 74

14 86

34 52

61

18 92 44 87

15

29 26

20 76

79 81 78 29

55

75

35 41

98
50

39 8276 26 67

14 27

90
99

2738 42
85

36
78 54 38

32

28

29
6768

2827

50

60
35 49 12 82 36

22 8944
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STUDENT WORKSHEET 

 Instructions 
 

 Complete the 9 times table below, then colour in all the multiples of 9 to reveal the 

 hidden picture. 

 

1 x 9 =  5 x 9 =   9 x 9 = 

2 x 9 = 6 x 9 = 10 x 9 = 

3 x 9 =  7 x 9 = 11 x 9 = 

4 x 9 = 8 x 9 = 12 x 9 = 
 

 

 

  

54
85

34 90 63
106 92

89
86 81

82

82
85

66
35

5570 72

26

41 45
99

20

106
108 11 9

97
27 26

36 45
34

12

74
16

82
99 18

55

40

46

110
91 54 34

45
52 106 81 36

36

36

28
70 72

108 72
105

44 36

71

106

74 81

109

90

9
90

18

99
16 72 81

32 90

30

90 54 26

99 55
108

2799 5454
62 63

108 63

85

36
18

108

27

104

74 100 40
81

16

72
54

19

28 27

44

30
6219 89 46 55

40
15

112

44
26 18

27
25 32 59 26 82

74

37

96 26

110

62 44 15

26 85 26
76

36 28

32 62

108
33 16 106

43

28 91
34

109 110 106

35 12 35
46

88 96

62 14

55 21

98 40 7299
44

44 20
17 74

50
55 99

94 80 106 12

74
37 3462 63

34

98

98 92 88 30
16 16 19 18

22 26

35110

106 55
52 60 27

20

7421

40
46

28

12

9
90

26

45 54

45

63
27

8145 2756

35 90

99 18
18

20

54
63

104

42 81
67

34
30

34

55

26
62 82 74 109

80 28

36
106

46 100 74 12 108 45

36
46

63

17

88 36

54 45

72 9

63

81 27
18

81 36
26

82
72

27

39 88 46 10
19 16

28
112 56

82

14
6435

4514 20 108
81

16
77

20

54

40

107
44

35 74 100

62 28 9
9 8

70
45 108 106

27
18

91

28

110

8814
88

35
34 65

40
34

4174 106 109
40

46 5562 36 63

62

26

91
109

4014

38

112
35

16 100
50 14 112

28

19 55
26 45

19
44

14 2835
88 74

20 16

55 82 105
74 76 106

19

35 7419 44 46
18
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SOLUTION 9 X TABLE 
 

 

 

 

 

 

 

 

 

 

  

63
19 89 46 55 82 106 92

35 85
34 90

26 15 76 104

32 62 30

96 26

89

62 85 70 72

55
40 44 16 66 86 81

55

82
26 85 26 99 18

18 82

74 100 40 74

4654

28 27
34

55 21 110 74
25 32 59 26 82 81 16

37 34
109 110 106 36

1262 44 15 36 45

4094 80 106 12 97

106
88 108 96 11 9

12 35
108

33 16 106 28 91 27 26

43 99

98
44 20 41 45

17 74 35
46

37 62 63 34 44
99 20

55 99
72 2674 62 14 20

106 8150 52

98 40

36 34

20
98 92 88 45 3022 26

99 110
16 16 19 44 91 54 34 18

72
110 32 90

55

105 99

63 28
52 60 18 27 45

106

4045 18

36 6344 106 54
81

36 27

90 90

35

71 90 54 26 62 63 90

7436

85

16

27 9 54
9

108
21

70 72 4674 108 72 81
27 54 26

27
12

28

34

26
62 82 74 109

34 18 17 90 80

56 28
54 45 99 18

36 8142 88 36 81 108 63

106
55 104

30

55

28 27 108
27

46
36 63

35
54

109 67
45

36 30
72 9

39 88 46 10
19 16 82

35
14

64

77 9 8 28
81

26

46 100 74 12

18 99

9 54

36
81 27

108 63
45

40 72 27
108100

112 56 54 72 18
44 62

45 7074 14 20

28 19

109

82
107

28 16

91 20

106

40

35

110

14

34 109
4174 106 81 45 108

35

63 44 91

16 88

14 28
55

35 74 40

19 50 14 26

112
74 36

34 65
40

16 100 19 55
45 112

46 11255 82 105 19
74 76 106 35 18

62 38

44 14

2088

28 19 26
35 46

88 62
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STUDENT WORKSHEET 

 Instructions 
 

Complete the 10 times table below, then colour in all the multiples of 10 to reveal 

the hidden picture. 

 

1 x 10 =  5 x 10 =   9 x 10 = 

2 x 10 = 6 x 10 = 10 x 10 = 

3 x 10 =  7 x 10 = 11 x 10 = 

4 x 10 = 8 x 10 = 12 x 10 = 
 

 

 

  

2

65 15

50 30

55 32

50
40

90 70 60
60 10 90 30

50 60

98

91 10 92

8480 80
20 50 52

25

84

60 90

73

96 28

90

60
60

60 90
100 101

10

40 12

105
10

50

14 70
40 30

70 80 74

30 50
90 55

14
120

72
38

72

10 85 20
30

74
90

70 80
75

32

28

70 10 30
20 80 50 100 98

38
72

121 45 74 118

50 76

102
36

5245

98

30

10

50 15

60

65
20

70

10

55
70

80
120

125

20

10
40

14 45

80

60
40 70

76
14 71 104 32

110 40

66 2039

53

30 70

41 84
68 55

48

10

60

16 9885
80

35 48

30 75
80 50

86 56

75

80 110

95 30
24

26 14

68
85

10
85 84 112

20

70 20
90

84

98 74 28 115 44 4136
92 90

115
108 92 26

58
98

70 10
50 40

60 45
70 40

92 98

125

18
41 39 14 76 32 45

55
67 44 84

115
68 5576

22 41

90 30 94

95

38

8524

14
22

63 70

66
5525 25

26
68 38 85 97

35

28
111 74 75

102
76 85

28 84 55
3258 36

38 41

22
15 28 118

85
47 41

16
45

65

30 3660 110

76
97

74 25 22 20 50
60

10 14
20

33 38 55
76 85

115

72 26
41 55 22

35 45 25
38

75 16 99
40 45

98
98 24 116

106
43 45 28

84
22 48 70 65 4125

22 85 45
35

65 90 55
50

32
90

28
41 5598 108

60 84
38 2555 24 26 85 16

98

28 45

95

101

28
30 30

70 40
45 36

85
80 50 60

54 85

52

84

45
62

32 25 85
68

98

74 80

76 76 9870
26 65

26

32

2 28 25

90 20 84
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SOLUTION 10 X TABLE 
 

 

  

 

 

 

 

 

 

 

  

2

74 118 38
72

70
7660 55

4555 32 65 15 121

90 3076 110 40 5053

48 66

71

30 70

14

90

104 32

80 70 110

70 10

30 60 10

30 80 50
60 120 20 50 40

20 50

24
75

45
39 10 10 20 56

40 60 125
80

65 86 48 14
41 80 60 84

68 55 35 40

36 98

10

50 15
95 30 70 20

36 70 40

10 30
90 60

20 90

102
80 50 70 98

112

98 74 28 115

84
108 92 26

115
75

26 14
85 84

92

16 85

14
50 40 120

60 45 44

45125 58 70 10

8490 30 94 18

38
4568 52

41 72

85

41 39 14 60 90 98 76 32
25

2422 41 10 84 95

115 55
98

55

90 96 28

92

80 80
76 20 50 52

67 44

74 75 100
28 40 12

101

68

70 60

66
76

5525 70 80 74 25
90 35 102

85 72 38

22 85

92 84 91 10
1463

98

111

73
65 2630 97

85
32 90 55 60 105 47

14 70
68 38 40 85

28 84 55 30
45

98 24 116 74 60

58 36 10
38 41

22
15 28 20 80 50 100 98 118

50

70 10 30
60

30 20
110 32 16

28 98
36

41
60

50 38
76

115 25 22 20 50 10 14

33 38 55 70
76 85 75

26
41 90 55 2280 35 45 2597

106
25 75 16 74 99 72

101
84 30

22 48 40 45 70 65 41

43 45 10 85 20 28
50 22

2555 24 60 26 84 95 85 90 16

45 32

98 32

85 45
35

2865 90 55 80
5598

54 85 70 40

52 45 36 38

50

20 30 84 2898 84 90 30
28

25 2632

41 74
108

76 9885 2 70 28
80

62

60
25 85 76

45 68 26 65
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STUDENT WORKSHEET 

 Instructions 
 

Complete the 11 times table below, then colour in all the multiples of 11 to reveal 

the hidden picture. 

 

1 x 11 =  5 x 11 =   9 x 11 = 

2 x 11 = 6 x 11 = 10 x 11 = 

3 x 11 =  7 x 11 = 11 x 11 = 

4 x 11 = 8 x 11 = 12 x 11 = 
 

 

 

  

8

74 134 131 34 125 23 24 38 135 127 115 16 120
30 120 5087 74

50 32 78 8721 131 16
122 109

114 2354 55 132 110
95

54
34 120 122

89 18

14 109

49121 66 121 26 49
33 31 111 63

16 111 120

50

128
86 132 77 11 109 35

1522 3299 44 66 132 3035
88

121 22 26 90 54 53 122
111 114 16111 61 66 33

66 11 55 130
25 22 54

94
132

111
44 98 121 77

87 48 23 25
34

1566
33 109

55

42 99 77 121 11 77
22 33

99
99

121 22121111 54 21 121
33 75

18
77 110

99
44 77 11

88 33
55 122

15 50 11 110 66 99
22

55 77 109
132 55 88

11 33 44
22 44 6622 66 99 24

122 130 44 22
99 66

87 78
21 32

45 98 132 55

33 22 33 110
121 121

111 11 22
65 42 99 132 77

40 12 77 11 66 44 132 88
55

22 121

44

28 26
77 8833 99

88

33
93 86 33 111 13 53

89 44
38

111
28 77

33 121 55
32

30 44 22 11 77
88 14

25
88 99 77 28 109 120 66 88 55

34
21 54 55 78 132 11 44 22

48 11022 35 39 87
33 28

99 55 75 55
98

130

33 30
25 49

109 11188

22
12

128

49 55 56 30
129 99

95
111 21

126

130 34
32 86 88

33 119

75

25 12 89

52 64 78 24 38
111 13 32 6 44

18
84

32 26
33

49 129
55 56

111 49 114
75 42

114 80 112 130

121 49
112

76
20

77 45 22 24 53 28

130
69 74 126 130

34
76 80 63 44 111 52 92 77

52 130
48 44 88 86

2845 129 53

50
24 52 95 109

52
48 109 21 52

130
46 48

12 122

110
46 128 84

3672 76
54 67
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SOLUTION 11 X TABLE 
 

 

  

 

 

 

 

 

 

 

  

8

28
46 48 53

36 49

7624
112 20 5054 67 130

52 95 109
76122

52
109 21

130 46 128 84

12 72

69 74 126 130

128

111 114 84
42 49 32

63 55 56 77
34

76 44 111 52 92
52 52 130

86
45 129

121

49
119

26

13
1252 112 38

111
45

49 33
75 129

80

2824 53

48
110 48 44 88

77
32

22 18

55

25

49 56 55

95
111 21 75 98

86

64 78 114

32
130

33

6 44

35

75
129 99

33

87
2833

55
88 109

99
111

34
88

30
25

30

12 89
22

80 130 24

93 86 33 13
88 99 77 28

34
111 78

39 126 130
21 54 55

2228

44
38 109 120 89

22

77

111
88

12 88

30 44
14

26
77 66 44 55

121 55
33121

66 2211
99 24

28

99 77 88
88

33

77
22

11 33

32 121

87 78 11

111
21 121

22 33 110

65

45 98 132 55

22

132
4442 99

40 11 132

109
132

44 22
99

121
77 110

99

66

22

88
55

55

33 44 66

25 2244

33
99

66 11 55 132

98
42 99

33 75
111 54 21 121

50
122 130 1115 110

111

121 77 66
33

87 23

33 55 121 22 18
44 77 11

99
22

77
88

33 44

122
66

55

35 16

26
33

121
77

22 99 109

25
11

122

15

16

89

48

35

111 12032

120

77

114

14 109

90 54 53111
130

94
34

54

30

15

2663111
86 109

87

23 4949
18 50

50

122 114

74

54132 110 122

50

109
95

121

128

115

32 78

16 120135 12774 134 131
12030 87

54

23 24 38

131 16

34 125

21

34
55

66
33 31

132 77 1122
99 44

88
121

111 61 66

121

22

66 132

32

22

53 25
66 88 55

48 110 77
132 11 44
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STUDENT WORKSHEET 

 Instructions 
 

Complete the 12 times table below, then colour in all the multiples of 12 to reveal 

the hidden picture. 

 

1 x 12 =  5 x 12 =   9 x 12 = 

2 x 12 = 6 x 12 = 10 x 12 = 

3 x 12 =  7 x 12 = 11 x 12 = 

4 x 12 = 8 x 12 = 12 x 12 = 
 

 

 

  

8
6

4

26 124 112 8636 124 2646
34 74

64
110 46 58

22

38 122
120 86 22

86
74 38

98

62 26
30 38

148

64 124
96 106 110

5548
124 98

46 34 30 124 46 38

30
22 98 34

44
74

84

72 16

24
36 80

48 26
12

22

64
84 39

148
144

62
70 120

30 110

11244

74
96

106 84 24

148 24 144
57106

60 80
132

72 74 16 120 24 34
3674 84 36 3848 70 12 60 30120 112 132

64 72 144
12

112 108 96

98108
132 112 26

84

86 96 108 22
60

144 24

24

34 36 132 72 80 86
96 120 48 124

36 72
60 122

108 72 48 36 144 62
2296 64 112

72 68 50
124

9812

12 148

124 60 84 86 70

112 96 84 2422 48 12 24

46 80
144 132

84

16

74

38 86 24 108 44

84 60132 36 38
34120 60 96

80
90

98

64
22

80 124 30

106
46

98 84 72 144 48
26 16132 74

64148 62 46 86 36 24 70122 64
110 120 50

112 106 72
38 34 98 30 108 62

86 80
34

124 16 22 24 12 90 148 56 68
110 38

26 48 132 64
34

108
22 14 80 106

120 38 124 122

74 110 70

50

90

16

106 46

74

64 74 98148 86 46 26 132 144
60 86 62 22 56

44
34 112 36 112 34

98 120 106 46124 60 24 86

62 22 11234124 148 124

106
80

6464

112 12 120 38
122 108 132

72 144 12

38
106 132 48

22
62 38 36 120

70
44122 40 70

108 24 38 16
112

46 98

112

50
30 80 106 80 34 30

46 16 74
58 62

74 34 110 148 106 106 44
22



 _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________  

 © Colourmath 2008    

 

 

SOLUTION 12 X TABLE 
 

 

 

 

 

 

  

 

 

 

8
6

4

26 124 112 8636 124 2646
34 74 110 46 58

46 34 30 86
74 38

98
124

148 124 46 38

30
22 98 34

44
74

2264 64
38

84
120 86 22

96 106 110
122 62 26 72 16

30 38 64
84 39

55
24

48
148 24 144

57106
60 80

132
72 74

74 84 36
48 70

120 112
24

86 96 108
60

144 24

148 36 80
48 26

62
12

22
70 120 74

96
30 110

2484 98
132 112 26

124 98 144 11244

16 120 24 34
3638 12 60 30132

64 72 144 106
22 12 108

112 108 96 84 36 7234 36 132 72 60 80 86
96 120 48

16 124 122
108 72 48 36 144 62

2296 64 112
72 68 50

12474 98

112 96 84 2422 48 12 24

46 80
144 132

84 12 148 34120 60 96 84 60132 36 38
124 60 84 86 70 106

38 86 24 108 44

12

80
90

98

64
22

80 124

46
98 84 72 144 48

26 16132 74
64148 62 46 86 36 24 70122 64

110 120 50
112 106 72 30

38 34 98 30 108 62
86 80

34
124 16 22 24 12 90 148 56 68

110 38
26 48 132 64

106 46 34
108

22 14 80 106
3864 74

148 86

124 122

74 110 70

34 112
98

46

124

50
9826 132 144 90

60 86 62 22 56

74
1636 112 34

120 106 4660 24 8644

120

148 124

38
106 132 48

22
62 38

70
44 106

122 40 70 80
6464

62 22 112
112 12 120 38

122 108 132
72 144 12 34124

108 24 38 16
112

46 98

112

50
30 80 106 80 34 30

46 16 74
58 62

74 34 110 148 106 106 44
22

36 120


